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Note: You can expect other types of questions on the test than the ones presented here!

Questions

Example 1 Eliminate the parameter and sketch the parametric curve given by . =¢ — 2, y = 3/¢, || < 1.

Example 2 Solve the system of equations z2 + y? = 9 and 22 — y = 2. Sketch the situation to check that you found the
correct number of solutions.

Example 3 Sketch the region defined by 2% — 2z +y? > 8 and y > | + 1|.

Example 4 A parabola is the set of all points in a plane equidistant from a particular line (the directrix) and a particular
point (the focus) in the plane. If the focus is (0, p) and the directrix is y = —p, derive the equation of the parabola x? = 4yp.
Include a well labeled sketch of the situation to motivate your calculations.

Example 5 Sketch 422 4 y? — 32z + 16y + 124 = 0. Locate the center, vertices, and foci of the ellipse.
Example 6 Sketch 922 — 54z — 432 + 8y + 113 = 0. Locate the vertices and foci of the hyperbola.
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